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Pa2zZ7 A 1 [E 7900 H = 8,250 M 200 M 8,450 M
¥ 2 [A] 10,850 H = 12,100 M 400 M 12,500 M
i 3 [a] 13,250 H = 14,300 M 600 M 14,900 M
WR¥T4 K A 4[] 7,900 B = 8,250 M 200 M 8,450 M
A6 9,100 B = 9,350 M 300 M 9,650 M
A8 10,300 H = 10,450 400 M 10,850 M
RE— B 7550 B = Fixd  1[E 1,000 M
EEHHE DC 13,250 H = 14,300 M 600 M 14,900 M
EFA DA 14,020 H = 14,520 M 600 M 15,120 M
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LyRxy (LT4—2R) LW 7,750 M = 7,700 M 600 M 8,300 M
a5 L P 7,200 A = 7,150 M 600 M 7,750 M
7YU— F 6,100 M = 6,050 M 600 6,650 M
F—J ALL 10,500 H = 10,450 M 600 M 11,050 M
Faleg (2 0 LU EMkESRE) T 6,100 M = 6,050 M 600 6,650 M
Z2Z28 (3 0FUitEERE) M 4800 H = 5,170 A 600 M 5770 M
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X 18 2 [A] 1,980 M = 2,200 M
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(B &84 B 1 495 M > 550 M
& 1E 2 [g] 990 M = 1,100 M
1 3 [4] 1,375 M = 1,595 H
VaAZT R —ILIRR 1*1E 500 M = 600 H
#HWEFA (1) & 250 M = 300 M
i ERE] 400 M > 1,100 M
AR T —ILIRR iE 2 [o] 800 M = 2,200 M
(B Z&#H) . A1 [ 200 M > 550 M
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18 2 [A] 400 M = 1,100 M
AR —IL/N R 1*1&8 400 M > 600 M
#HWEFB (1E) & 200 M = 300 M
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